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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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GE T H10 J97 AIT-AT P H & | @S T H 8 IoT 3 1978 G I dFH 4 37 FT 5 |
Y9797 H HIF GHY l9heq F&1 & | e 1 3% it 2 o1 7, 2 37hl ard
2 Y51 5, 8 37h] dici 4 oA H 3K 4 3] it 8 Il H IR [4eheT a7 13T
7T & | U8 oA 7 379! 13T T fdHeql § & SecT Uk FIT & BT 8 |
SIFA] F JIIT BT IFAT TE & |

General Instructions :

(i)
(it)
(ii1)

(iv)

(v)

All questions are compulsory.

The question paper consists of 30 questions divided into four sections —
A, B, C and D.

Section A contains 6 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks each
and Section D contains 8 questions of 4 marks each.

There is no overall choice. However, an internal choice has been provided in two
questions of 1 mark each, two questions of 2 marks each, four questions of
3 marks each and three questions of 4 marks each. You have to attempt only
one of the alternatives in all such questions.

Use of calculators is not permitted.

Qs A
SECTION A

97 G&IT1 &6 T TP Jo7 1 3% F & |
Question numbers 1 to 6 carry 1 mark each.

1.

feema et (x + 5)% = 2 (5x — 3) W1 fafemAet (discriminant) fIRaT |
Write the discriminant of the quadratic equation (x + 5)2 = 2 (5x — 3).

F1a hifere foh T % % CIMAd €Y hT CIEAD o fohdd TAMI o
2°.5%.3
Mg 37d B |
AYAT
TEAT 429 i $Heh U UHEUS] o U o &9 H Ah HIfT |
Find after how many places of decimal the decimal form of the number

will terminate.

OR

Express 429 as a product of its prime factors.

/3/1 2




8. 6% J¥H 10 U 1 AMTHA ATA HIWT |
Find ‘Fhe sum of first 10 multiples of 6.
4. 3fg fig A0, 0) @ foig B(x, —4) % & &1 gt 5 3% 2, @ x % WH F@

i |
Find the value(s) of x, if the distance between the points A(0, 0) and
B(x, — 4) is 5 units.

5. Froard a @& b (a>b) % 3 Tl ga fiu mu | S g 1 Sa, B g9

61 TRIET g, ! TS [ I |

Two concentric circles of radii a and b (a > b) are given. Find the length of
the chord of the larger circle which touches the smaller circle.

6. IR 1H, PS =34, QS =48, ~ PRQ =6, ~ PSQ = 90°, PQ 1 RQ TN
RQ =938 | tan 0 HF I HINT |

P
3 ot
S
4 9w
0 n
R 9 Tft Q
STFHI 1
g

aﬁtana:% %,Fﬁsecawmiﬂﬁaﬁli\ﬁﬂ |

In Figure 1, PS =3 cm, QS =4 cm, £ PRQ = 6, Z PSQ =90°, PQ 1L RQ and
RQ =9 cm. Evaluate tan 6.

P
3 cm
S
4 cm

0 ]
R 9 cm Q
Figure 1
OR

If tan o = % , find the value of sec o.

3 P.T.O.
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SECTION B

Jo7 GEIT7 T 12 T JAH Fo7 2 37F & /
Question numbers 7 to 12 carry 2 marks each.

7.

f9g A3, 1), B(5, 1), C(a, b) T D(4, 3) T FHIGX 9gHsl ABCD o 3§ fog
2 1 adAl b % AH AT hIFT |

HAAAT
fagatl A(-2, 0) T B(0, 8) & g4 o {@E@S &I fog P da &g Q
guffoE w0 §, 9 P fig A % e 2 | Figail Pawn Q % Frwi® T
iU |
Points A(3, 1), B(5, 1), C(a, b) and D(4, 3) are vertices of a parallelogram
ABCD. Find the values of a and b.

OR
Points P and Q trisect the line segment joining the points A(- 2, 0) and
B(0, 8) such that P is near to A. Find the coordinates of points P and Q.

=1 W wiertor 3w o6t & Hif
3x—by=4
2y + 7T=9x

Solve the following pair of linear equations :
3x—-by=4
2y + 7T=9x

Ife 65 qAT 117 & 4.49. (HCF) ! 65n — 117 % &I T SIMIT ST Gehal &, a1 n
T WM 14 I |

3rerat
@ @ geag 1 8 % foru ue wny aret et 3R 3ok el sl IreTs ShA:
30 cm, 36 cm AT 40 cm & | YIS I AdH fehaHl U aF HTA BRI Toh @fl
AT qOf HeH! H T g = ?
If HCF of 65 and 117 is expressible in the form 65n — 117, then find the
value of n.

OR

On a morning walk, three persons step out together and their steps
measure 30 cm, 36 cm and 40 cm respectively. What is the minimum
distance each should walk so that each can cover the same distance in
complete steps ?



10. T 9T I T IR Bl Il g | TTRIehal F1G I (1) ITH & Th ST
1 B, (ii) ITH AT Teh AT &1 3 |
A die is thrown once. Find the probability of getting (i) a composite
number, (ii) a prime number.

11, 9 @ s i fafy s S S ge guisy foh wHieRn x2 - 8x + 18 = 0
1E T T 2 |

Using completing the square method, show that the equation
x2 — 8x + 18 = 0 has no solution.

12. 1S o W 7 9 40 a6 h dead fore 2, o U 4 W g | [@H I 9
T hIS AGoRAT Hehled! g | TRkl F1d hitvg foh g8 g Fehret T 1€
W 3fehd T&AT 7 HT TH U 7 |
Cards numbered 7 to 40 were put in a box. Poonam selects a card at

random. What is the probability that Poonam selects a card which is a
multiple of 7 ?

Qs 9
SECTION C
Y97 G 13 & 22 7% b F97 & 3 HF & |
Question numbers 13 to 22 carry 3 marks each.

13. forel BrgS ABC % 3M¥ A § 4T BC W ST T @& BC &l 9§ D W 38

e firerar 2 f6 DB = 3CD 2 | fag Shifsie fop 2AB2 = 2AC2 + BC2
YT

AD 3R PM BYsit ABC 3T PQR 1 3usT: HTfEehTd § J&fh A ABC ~ A PQR
AB AD
| g T fof = = == 3 |
@ g PQ PM @
The perpendicular from A on side BC of a A ABC meets BC at D such that

DB = 3CD. Prove that 2AB? = 2AC? + BC2.
OR

AD and PM are medians of triangles ABC and PQR respectively where
A ABC ~ A PQR. Prove that AB = &
PQ PM
14. g9% p(x) ! TGUG g(x) § WFT Hieh JA14 hHIWT foh FT g(x) TgI& p(x) 1 Th
UGS 7 | e T g R

px)=x®—4x3 +x% + 3x + 1, g(x)=x3—3x+1

Check whether g(x) is a factor of p(x) by dividing polynomial p(x) by
polynomial g(x),

where p(x) = x? —4x3 +x% + 3x + 1, gx)= x3-8x+1
5 P.T.O.




16.

17.

18.

T A0, — 1), B(2, 1) 3R C(0, 3) It BIYsl ABC i qST1aTi o wea-fagati 8
I 9Tt B 1 &e T1a <hifT |

Find the area of the triangle formed by joining the mid-points of the sides
of the triangle ABC, whose vertices are A(0, — 1), B(2, 1) and C(0, 3).
TN x —y + 1= 0 3 3x + 2y — 12 = 0 &l UTH G | TMH gAT, x 3 y
% ST FHIRIUT ! TS A ATt HH FTd ShIfTT |

Draw the graph of the equations x —y + 1 = 0 and 3x + 2y — 12 = 0. Using
this graph, find the values of x and y which satisfy both the equations.

fag FifSe T V3 we Sufea v 7 |

Srqa
I8 9SI-B-9S G Fq it {98 @ensti 1251, 9377 991 15628 sl W
T T HH: 1, 2 AT 3 AT AT B |

Prove that +/3 is an irrational number.

OR
Find the largest number which on dividing 1251, 9377 and 15628 leaves
remainders 1, 2 and 3 respectively.

A, B 3 C s ABC & 37a: =iv B | fe@mse b

] . (B+C A
(1) s1n£ ] = COS —
2 2

(i) IR LA=90°%, tan(B;C)?ﬂmaﬁaﬁﬁq |

A
1

Ife tan (A + B) = 1 99T tan (A — B) =
NE]

dl ATl B W 1A I |
A, B and C are interior angles of a triangle ABC. Show that

) . (B+C A
(1) s1n( ] = COS—
2 2

%,GBTO°<A+B<90°,A>B%,

(i) If £ A = 90°, then find the value of tan(B al Cj.
OR
Iftan(A+B)=1and tan (A-B) = %,0°<A+B<90°,A>B, then find

the values of A and B.



19. {2 H, 5 &t s & wh g9 At 8 Arf @t U a1 PQR I PR QW
TIYI@T TR T fog T R W= &l 8 | TP %l @«Ts 1 hiag |

SHTPIT 2
AT
fog Ffe % 99 & vfe st s 1 emR-ame A god, 99 F Fg |

Gk IV AT il B |

In Figure 2, PQ is a chord of length 8 cm of a circle of radius 5 cm. The
tangents at P and Q intersect at a point T. Find the length TP.

Figure 2
OR

Prove that opposite sides of a quadrilateral circumscribing a circle
subtend supplementary angles at the centre of the circle.

20. 6. = R 1.5 M. T=h w T A arht 10 Ferrfie. Y T @ w8 @R
30 firre ®, a8 T8 fohaq & i =g = ot srefe g o forw 8 @ft
TE 38 U U Sl SATEvhdl Bidl 8 ?
Water in a canal, 6 m wide and 1-5 m deep, is flowing with a speed of

10 km/h. How much area will it irrigate in 30 minutes if 8 cm of standing
water is needed ?

7 P.T.O.



22.

orelt hefm TeaTfuesh 3 R w1 < foIu oot her o 40 Tt i srgufeufa
frefefaa v # fenid #i | Tt foenedf fSaq foq srufedm w1 3 ey 99
HIT |

&.:ﬁﬁ 0-6 | 6-12 |12-18|18-24|24-30|30—-36| 36 —42
qe&1 .

. ot 10 11 7 4 4 3 1
qE&1 .

A class teacher has the following absentee record of 40 students of a class
for the whole term. Find the mean number of days a student was absent.

Numberof | o ¢ | g_12 |12-18|18-24|24-30 | 3036 | 36 - 42
days :

Number of 10 11 7 4 4 3 1
students :

Rt SR % @ IR (wipers) &, I WER FHHi r=LIed T8 81d & | T
U h1 Tt hl TAEETE 21 WHT § 3R 120° & IV G THH THG HL Fhdl
7 | g Sl T g8R o 919 a1 &F%hd |9 81 ATl 3, 98 1 i |

<n=% i)

A car has two wipers which do not overlap. Each wiper has a blade of
length 21 cm sweeping through an angle 120°. Find the total area cleaned

at each sweep of the blades. (Take n = ?)

@ us 3
SECTION D

T GEIT 23 30 T JAF 97 & 4 3% 8 |
Question numbers 23 to 30 carry 4 marks each.

23.

13 Wit ™ Tl Th JThR TTeh shi THETAT o Teh g W T @HT 36 TR
TS 2 Toh 39 ATk o T ™ o QA Id gl W &+ Hieshi A 3R BH @H
61 Rl 1 IR 7 W B | R UET KA 9 @ ? ARG §, A QHAl BIehH o
fepert gt W @ e 8 2

A pole has to be erected at a point on the boundary of a circular park of
diameter 13 m in such a way that the difference of its distances from two

diametrically opposite fixed gates A and B on the boundary is 7 m. Is it
possible to do so ? If yes, at what distances from the two gates should the

pole be erected ?



25.

26.

Ifg foret TmTaR 2t % md 9g HT m UM, 39 nd ¢ % n TON o &K &
(min),?ﬁﬂ'ﬂﬁ'ﬂﬁﬁm%qﬂ(m+n)ﬁ%3ﬁml

Srra
forell THTaR €t <hl Yo A et 1 AR 18 B | Il g IR d ue
ST UM% HTd 3T 1 5 IO &1, dl -l TEA1sti sl F1d it |

If m times the m'® term of an Arithmetic Progression is equal to n times

)th

its n® term and m # n, show that the (m + n)*" term of the A.P. is zero.

OR
The sum of the first three numbers in an Arithmetic Progression is 18. If
the product of the first and the third term is 5 times the common
difference, find the three numbers.

wH s ABC & w1 hifse {5 gs BC = 6 &, AB = 5 &t 3R
ZABC = 60° & | TR T 311 By 1 w1 Shifve feeht = A ABC i
T gt % T

Construct a triangle ABC with side BC = 6 ¢cm, AB = 5 cm and
£ ABC = 60°. Then construct another triangle whose sides are % of the
corresponding sides of the triangle ABC.

IR 3 H, TG & [oIT ST Teh sclich ST T & A1 &1 316l — Teh o4 a
T M | ST 8 | Scloh ol SER Teh 6 THT YT I OH g qAT 3Th SN

T FreTien 3 fomen =am 42 3t } | 5 iR
(a)  Sclioh T Pl TSSIT SFHA |

(b) 2?@3@%% | «;2\%
(=22 ifi)
6 it
6 Tt
6 Tt
STFHIT 3

AT

9 P.T.O.



27.

IR G Gl Th dTeel AP b Ak oh AR hi & TEeh! ariiar 12308-8 A3
2 | 38 St a1 fe gamer &l it Beand w20 St qen 12 @l §
et S S8 [ SHINT qAT dleel I o | ot arg shl =6t 1 &b
Fd HINT | (n= 3-14 HT T HIf)

In Figure 3, a decorative block is shown which is made of two solids, a
cube and a hemisphere. The base of the block is a cube with edge 6 cm
and the hemisphere fixed on the top has a diameter of 4:2 cm. Find

(a) the total surface area of the block.

(b)  the volume of the block formed. (Take n = %)

< 42 cm >

6 cm

6 cm

6 cm
Figure 3
OR

A bucket open at the top is in the form of a frustum of a cone with a
capacity of 12308-8 cm?. The radii of the top and bottom circular ends are
20 cm and 12 cm respectively. Find the height of the bucket and the area
of metal sheet used in making the bucket. (Use n = 3:14)

Ifc forelt ByS &I T ST o FEIR I @ qSell &l - feget W

gfdesg i o [T Th @1 Wikl AW, a1 g hivT fh 3 31 3 Y9 T &
U § faviiora g1 St & |

AT

forg FIfve T wsh Taanror Byt & ol 1 ot 99 g1 osti & ot b ATEA *
TR BT 2 |

10



28.

29.

30.

If a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points, prove that the other two sides are divided in
the same ratio.

OR

Prove that in a right triangle, the square of the hypotenuse is equal to
the sum of the squares of the other two sides.

QT%1+sin26=35in6cos€)%,?ﬁ&l@%liﬁﬂﬁtan@:lﬁ%’[tan@:%.

If 1+sinZ0 =3 sin 0 cos 0, then prove that tan6=1or tan 6 = %

= fer U deT w1 T 3 T % "ed H deit IR TR 3§ §ed &
‘@ arferes g T qr i |

i 3aue : [20-30|30-40|40-50|50-60|60—70|70—80 |80 —90

SRETET 10 8 12 24 6 25 15

Change the following distribution to a ‘more than type’ distribution.
Hence draw the ‘more than type’ ogive for this distribution.

Class

interval :

20-30(30-4040-50|50-60|60—-70|70-80|80-90

Frequency . 10 8 12 24 6 25 15

Tsh THdd THI W @t H9R 6 3mn 35 feafa § 40 . srfees o=l 8 St 2
Sfeifer T T IFAT (altitude) 60° § TR 30° B AT 8 | HAR Hl S5 710

i | (feam w2 V3 =1732)

The shadow of a tower standing on a level ground is found to be 40 m
longer when the Sun’s altitude is 30° than when it was 60°. Find the

height of the tower. (Given /3 =1-732)

11



